New Maths GCSE: A18 - Equations with Fractions (Quadra

Step-by-step 1
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Which of the following is a correct next

to solve this equation?
B s+ B 3(2x+1)

2x+1 . k]l
B =+ =3
5(2x+1) 6(2x+1)

2x+1 T (x+D)(2x+1)
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B s+ Fa] =3(2x+1)

=3(2x+1)

6(2x+1) _
5+ W = 3(2x+ 1)

Which of the following is a correct next

step to solve this equation?
A 5+6(2x+1)=32x+1)(x+1)
B 5(x+1) + 6(2x+1)=3(x+1)
5(x+1) + 6(2x+1)= 3(2x+1)(x+1)

5+ 6(2x+1)=3(2x+1) — (x+1)

5(x+1)+ 6(2x+1)=3(2x+1)(x+1)

Which of the following is a correct next

step to solve this equation?
= 52+1+12x+1 = (6x+1)(x+1)

Bl sx+s+12x+6=2x2+3x+1

5x+5+12x+6=6x%+9x +3

5x+5+12x+6=6x2+3x+1
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Correct Answer: ABCD
Explanation:

Correct Answer: ABCD
Explanation:

Correct Answer: ABCD
Explanation:



Correct Answer: ABCD
5x+5+12x + 6 =6x%2 +9x + 3 Explanation:

Whlch Of the fO”OW|ng |5 a COrI’ECt next ..........................................................................
to solve this equation?

Bl 5454124622 +94+3 | e
0=6x2+20x+14 | e
0=6x2—=20x—-14 | e,
Correct Answer: ABCD

0=6x2-8x-8 Explanation:

Which of the following is the best next | bk ki

step to solve this equation?

= 0=6x—-8-8

B o=6x+8)x-1)

0=(6x—8)(Xx+1) | e s
DmBaedpad @090 | s
Correct Answer: ABCD
0=3x%2-4x-4 Explanation:
Which of the following is the best next [ IR T IR RN RRRR
to solve this equation? [ TR
- 4x + 4 = 3x2 ..........................................................................
BB 0=Bx+2)(Xx=2) | s
0=(3x_2)(x+2) ..........................................................................
0=3x—4—-4 | e,
Correct Answer: ABCD
O={3x +2)(x—2) Explanation:
Which of the following is the best next [ TR T I NN
step to SOlVe thiS C O LAt ON |
B 0= 2022 | e
Bl Xx=-2,x=2 e
—Bx+2)=(x—-2) |
s % B0 | e ————s
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